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Detector Geometry and Trigger Condition

D1 is “1x1” LaBr3
D2 is “1.5x1.5” LaBr3
D3 is “2x2” Nal(TI)
D4 is “2x2” Nal(T1)

+ D1 and D2 are 6 cm apart

* D3 and D4 are 10 cm apart

Trigger is set to be;

D1A(D2vD3vD4)]v[D2A(D3vD4)]v(D3AD4)



Co-63 Spectra
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Observing Coincident Events

D1nD?2 Correlation
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Time Correlations before Slewing Correction

D1 Correlation before slewing Correction
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Time Correlations After Slewing Correction

D1 Correlation After Slewing Correction
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Slewing Correction Function for D1
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Slewing Correction Function for D3
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